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&\ =(10P:s) On the last blank page, solve each part separately. Then write the answer in the foll/o(ving table:

- For the circuit shown, If the = @, + \%
= \5A < O;

conditions for maximum power

transfer exist, Determine the:

a- Valueof Z;. 2z.=72,,3 60/CV rms
b- Source currént Is. 1= Yoo v

= e—

k2
c- Eﬂ'cmnu (f]) (’] Pnur/ npu!) / z_c
ot '~ e 4t
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*In the circuit, v(t)=4 cos(1) V,
Cy=1mF, G =2mF, Cy=3mF > & To5 _|.” l
Determine the: \7(\5 4 s 1000 A!
ARl iy C C =Gy |P _ Y

E)Pa- Current of C,. =505 . v0) T ' T - W= 4
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™ b- Instantancous power of 83 >
c- Total average power (P).
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- For the given computer central |, V, = \\
processing unit (CPU) clock F g )
waveform, find the: V. = Ve g
a- Average (DC) value, ‘5
b- Effective (rms) value, ‘
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rs Ve'dlt 0 TA 213 T 4T3 I T
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Describe the smusmdal signal in: p— I(t) = & 2% ( -S«T\)g
a-Time domain i(z). 8 Q -d1 500t - LN
b- Euler’s form Ig. _x W_/\ IE —
¢- Phasor form I. \ 2 i 12 B

Then Find the: o \1/{- ronersd | J= 8
d-Peak-Peak current I, B
e-Root mean square value /.
f- Frequency f.
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Find the phasor of: v =5 cos(j2). y=~+5 L“ﬂg’(‘f
Describe the vs(t) = Tcos(10t + 60°) + 4sin(50t + 45°) | Vg = e
phasor form of: ,,

Scanned by CamScanner

?



U Q2-1-16Pss) In the circuit shown, Take: L=0.5H, R=10k,

Vsi(t) =10 cos(31.41)V, V(1) =1.2 sin(2.5x10° ++30°)V.
a- Name the proper method to solve this problem.
b- Determine i(1).

c- Determine Y, (1).

d- Determine the average power Py,
e- Discuss Vou(1) and P,,,, respect to the frequency,
e b) .\
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Q2-11~&n\For the sinusoidal coutrolled vl & o.)r ol-o
/ \ systqa, the input function is: LS
( vs()= 311sin(3140). If'the 3} w(t)
/swit'ch (8) ix OFF at time from
//’ [(0 o @) and at (7 10 22+@))]. and »
ON from (o to ). Find the:
a- Average voltage of v, 0 =
b- rms voltage of v wr
o Average voltage of vy,
d- rms voltage of vy,
[ Hint: sin®(x) = -_1;(1 —cos(2x))]
= - V(0
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~Q3-@ry In the circuit sh hwi vs(t) = 40 sin(314t). 10Q 7 a
a- Find, Sketch, and Label the Thevenin | .
l \ cquivalent circuit as seen from terminalsa - b, '
Then find the: -
’ b- Load current at Z, =6 +j8 Q. Z
: ¢- Value of Z,, for max. power transfer, Vs (t) i L
d-Value of Z, =Ry (Z), replace by a pure resistive)
for max, power transfer.
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(l Losses Power in Ry,

- Losses Power in Ry,

Q420 The circuit shown, represents an imluuinn motor ?
cqmvnlcnt circuit, Toke: Ry =

Dlame=2200°V, o= 314 rad/s, Willmui (.nnnu,lm;, R/.Q_f‘-
S ]u, capacitor C, Determine the; o

=4(),

- Load Current in phmm form,
- Complex power S of the load.
¢ Sketeh and Iabel the power triangle of the load. +
¢- Efficiency (7). =4
With C connected, Determine the:
f- C value, if the power factor is to be corrected
(improved) to (0,98 ) lagging,
h- Efficicncy (1).
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